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CRNA-S-COMA

COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer (QCA) Booklet must be clearly struck off.

CRNA-S-COMA/12 1 [ P.T.0.



@Uus—A / SECTION—A

1. Ffafad d & ycs &1 @ 150 wsdl § IW AR
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(c)

(d)

(e)

(b)

(c)

(b)

(c)

“SRvagE yer (o o 3Mo) v ffda aem 1 @ wR A =@ Fifv)

“MBO is a mixed blessing.” Elucidate the statement.

o hifsre for fora weer Afdea awm, mew-hi-Twar rauron & 9 w21

Explain how the matrix structure breaks the unity-of-command concept.
TSl § FgR W Alhed fa@wah! & 1@ 61 et fad=mn i)

Critically discuss the impact of personality traits on the behaviour in
organizations.

e fagra % wufasm & de § Worelt I9rm’ W ue |idw ool fafaw)
Write a brief note on ‘systems approach’ in the context of the evolution of
organization theory.

TISTCHS TWTaiieral i g Yaiadl ! &9 § THsy |

Briefly explain the main systems of organizational effectiveness.

PR TH b % Hed e o 9 A T R ST wha ¥, 9 A 6 a1 3 A

T HE g1 39 B F ATCAEATHE Yedrha Hieg |

“The choice between centralization and decentralization cannot be made in
isolation, none is good or bad.” Critically evaluate this statement. 20

M (Tar) o faequ (feaeiv) & wroi  we il @Al § yeusl 6 e
WAl § guR 7Y gAE A

Explain the causes of distortion in perception. Give suggestions for improving
perceptual capabilities of managers in organizations. 10+10=20

Hi & weften Ff FF F 99, GTe B @ TeH 9w 2

Briefly review how conflict can provide benefits to the organization. 10

wer figra ) gerar A wE i 6 w0 it sfie orea FwEl W sfiniia @ @ #
a1 3 T =an srawEs w1 w0 B

Explain, with the help of the expectancy theory, why a lot of workers are not
motivated on their jobs and do only the minimum necessary to get by. 20

“GreTeRs Gt Aaist, favarEl, gt U Al @1 98 YR §, S 6ed % HeEdl gN
aren T S #17 TR AR EeTore S5Rd % GERIHE T4 TRRIHS YW@l H faae
Hif

“Organizational culture is the set of assumptions, beliefs, values and norms
which are shared by an organization’s members.” Explain. Discuss the positive

and negative impacts of organizational culture. 6+7+7=20
Hfthea e 6t wrafea sEwanet 1 e g Hif)
Critically examine the Freudian stages of personality development. 10
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4. (a)

(b)

(c)

frger g wfauifea A9 ¥ e g w1 e qeae el ' e

ot gl a1 HRY seEre g wfaiea feafames A9 Rrera @ fha wew firm 27

Critically evaluate the contingency theory of leadership propounded by Fiedler.
How is this theory different from situational leadership theory propounded by
Paul Hersey and Kenneth Blanchard? 10+10=20

@1 T qeES (S5 U8 Wi%) § [ 901 AT G-y N F qIaeE A Gud i g 87
39 §od Il =JAaH U 8g 3 gFE g
Despite the complementary and supplementary relationship of line and staff,

why is there a conflict between them? Give sound suggestions to minimize this
conflict. 10+10=20

“gam N w1 FEiaEE @ s @ § aitedd 3 wa @ @il A gy
TS ?1 Ed  qeese

“The implementation of information technology produces change in
organizational structure as their relationship is dynamic.” Explain in brief. 10

@Wus—B / SECTION—B

5. fr=fafad § & y@s &1 @ 150 vkt 7 IW T ¢
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(©

(@)

(e)

‘I (ZFR)’ 1 wEEfd’ /TRl @ SR I adn SR’ % ST oA % el
e iR

Distinguish ‘transfer’ from ‘promotion’/‘demotion’ and state the purposes of
resorting to ‘transfer’.

360° wfayfe % 9R wuf=a sraat 6 wag § fa=m fifvm)

Briefly discuss the four integrated components of 360° feedback.

“yftes 1 STfe rEd (HeNER) 7t FEe % faa § R i 9 @ wiwiEt % fra #) @
FoA H T AR

“Excessive turnover of labour is neither in the interest of the employer nor in
the interest of the employees.” Explain this statement.

HrerRyl sienfie werg & fog steavas smedt i fagem fifm)

Discuss the essential conditions for congenial industrial relations.

e ey gaeush % INEReal S wE Hifsg)

State the responsibilities of Industrial Relations Managers.

‘A "EEA veeg % i gt § faftm o § oftada gen @ i wRada i g vl e
fi I ?1 39 A F wEEET)
“The approach towards Human Resource Management has undergone

transformation through different stages and this process of transformation is
still going on.” Explain this statement. 20
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(b)

(c)

7. (a)

(b)

(c)

(b)

(c)

rafis el % fioer & wuehar @ (wefd) 6t FifeE 6 e i) awgia 7@ =i
TuTt 9 Rg IYYTH YA H1 g AT
Discuss the weaknesses of a conciliation machinery in settling industrial

disputes. Suggest suitable measures to make conciliation machinery effective.
10+10=20

w8y & gmemee B W Sie FRwm wiem, sife faeme w anfia @ iR Sie savasdaet @
Frafad )

Explain briefly how the process of job specification is dependent on job
analysis and related to job requirements. 10

“gra gEeEl F e gee % e aee qaeE FRisE o gaiten ?17 39 Fu % g b,
e gaeA fEee i wg @ fvewo i)
“Human Resource Planning is a prerequisite for effective management of

human resources.” In the light of this statement, analyze the significance of
Human Resource Planning. 20

““syeff wizEan STaEt HTH FHETSS, THAEI AU A A R, WY @ 99E ¥4 | ged gl
A Hida w0 areh Bt 71”7 e fafmt sy, S i wfsen < e w gur @)
“Recruitment process is often very strenuous, time-consuming and expensive,

as also equally frustrating from the point of view of the organization.” Suggest
the methods which can improve the objectivity of recruitment process. 20

“vra & fa e agEg iefe gy W srafis ek 1 sieifie T ®
USRI % WNTE w9 Fif |

“Rapid industrialization in India is heavily dependent on harmonious
industrial relations.” Explain the impact of globalization on industrial
relations. 10

g & & ieifie wery i el 9 FHRE! 1 e whe Hifs)

Critically examine the strengths and weaknesses of industrial relations in
public sector. 10+10=20

WA & 9 "l wa ¥g A H WE AT TE WA AW E9 % SAfuwr H s
frefia Hifsm)

State the criteria for the recognition of Trade Unions in India. Also point out

the rights of a recognized Trade Union. 10+10=20

“wra & angfees dRarsh it ana 7€ @ R g i) angfes dRarsh iy
1 g S *g gamal i faae fifvm)
“Collective bargaining in India has not been very successful.” Comment.

Discuss the suggestions to be made to make the functioning of collective
bargaining effective. 10

* Kk
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